
Pulley Problems 
For each device shown, find W in terms of P. Assume that the pulleys and strings are weightless. 
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(Continued on other side) 



10. 

 

11. 

 

12. 

 
 

13. 

 

14. 

 

15. 

 
 

16. 

 

17. 

 

18. 

 

©2012 Robert Chuckrow 



Answers 

1.  W = 2P 

2.  W = P 

3.  W = 4P 

4.  W = 3P 

5.  W = 4P 

6.  W = 3P 

7.  W = 5P 

8.  W = 3P 

9.  W = 5P 

10.  W = 4P 

11.  W = 5P 

12.  W = 4P 

13.  W = 14P 

14.  W = 5P 

15.  W = 5.5P 

16.  W = 5P 

17.  W = 5P 

18.  W = 8P 
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